BB A

TSRS 4 ( PR) S T AR pox
JESE 10E 0 B ol
Hix: =
i e pER 110# B
A X 109% & & $imaiire S L2 F i § L
B PRSP HE2E 110477 21 p Fricsr 3 5110014363585 &
2. PEp gt 237,600 (RF+FLP MR £5)

L~ paats (478 REav 5
B~ BapiEw (a) — (b) 0 GrE#ELRE 5 4F $% 0 BREAESR FRw)
—i N ‘_—f_ P ‘13’.;{ ﬂg fm
% i PR R AT | RRAEE | K @
| ER 237,600 237,600 | @) 237,600 | MR
te TEE
[ENEE
: 2] 1
, TR EIFTZ'* H
o &3 237,600 237,600 |(1) 237,600 | s sy ¢ 32
%ﬂ p PR T AEFAER WAk B BE LG
T CERSCTL T 237,600 237,600 | g0 |[H 5T 20
(REPZFPEEER) ’ ’ U ER R
109% & & 5 15 H (10987 - FEME R
110#17) B % ST
M EF A EE e e 3.5F P HE
| R ERA L ERT S HEE >
B -T21A (1) 45 M 118,800 118,800 118,800 | & Fe w2
() (S efitn M e & 4 * AR R R
FeERT) =
N . LF B 4. F”]#"L’Q’"
1095 # & %28 #H (110&27 - SR e
110£77) N
10 RRA KT+ 87 % i
E«:Fj‘ﬁ R BERT S @:; :f%-:f o
3 721@%)9’7%?@ 118,800 118,800 118800 [ T
X FHe ik g R E S
RETLILF
o
v e HAR
7R 0 AP
Ad e 237,600 237,600 | 237,600 |3 = i p =
#w (1) —(2) 0|67
EE EREET I ENC DR WHE T
WL RO B B R TS 2T (A 9R) L AR TR L SO RE A A
2.3 3 GRAeA I PHRIRY A 2 TRXSRF SR I RHD LR AB ARG
3. » lir‘* ra,:wm/ ?I';}B’ éf_ q_.;i’#kf”/nfifs?l""%—J °




	範例

